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9. The of the function f(x) = x*> — kx + k + 8 touches the
Caxis at one point. What are the possible values of £
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Chapter 3 — Quadratic Functions

3.5 — Solving Quadratic Equations

Note that last day we looked at section 3.6. We now go back to 3.5 as this is a better order for the
concepts.

Before beginning we should look at the difference between a Quadratic Function and a
Quadratic Equation. A function such as f (x) =3x* —5x+1 has a graph with infinitely many

points. On the other hand, a quadratic equation (in standard form) looks like:
3x* —5x+1=0
(What is the difference between the function and the equation?)

In section 3.6 we saw how to find the zeroes of quadratic functions, using the techniques of
factoring, the quadratic formula or using graphing technology. As it turns out, solving a

uadratic equation is Exactl ‘
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Quadratic equations, therefore can have /2 | ( , or ) solutionyroois

Example 3.5.1 _
o 5f
Solve the equations: e

a) X ~5x-14=0 b) 2x* +5x =2x+4 %«*a‘cl@ﬁ@ &?f{r
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Example 3.5.2

Use graphing technology to solve —2.3x* —1.32x = —1.45

=> —2.3537- 1L2a 4 145 = o
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Example 3.5.3 (From your text: Pg. 178 #6a)
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6. Determine th€ break-even quant)

ties for each prnﬁt function, where x is the
number sold, 1 : -
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(d; o [/ Sﬁﬂ. The poputation of a region can be modelled by the function
e TMQ'{“ 57 P(t) = 0.4¢% + 10t + 50, where P(¢) is the population in thousands and
t is the time in years since the year 1995,
a) What was the population in 1995?
b) What will be the population in 20102
c) In what year will the population be at least 450 000? Explain your answer.
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Class/[Homework — Pg 177 — 178 #2bcd, 4abef, 6¢d, 7 (Hint: what is the height of the ball when i?ig)on tﬁ):o V{‘DPK@ '
ground?), 9, 11 (#9 and 11 are tricky — ask for help!), 14



